A versatile craft is yours when you
build this sturdy pram—it can be
sailed either cat-rigged or sloop-

rigged, paddled with oars or powered
by a smail o.b. motor

By George B. Buckley
Craft Print Project No. 377

his strong, beamy, eight-foot pram may be sailed

L either cat-rigged or sloop-rigged. The dagger-
board may be adjusted forward to balance .the helm
when sailing with the addition of the jibsail. Oars or

a small outboard motor may also be used to power

this versatile craft. Before the construction begins, a
few general procedures will apply: all screws will be
F.H. galvanized steel and will be slightly countersunk;
when plywood is connected to hardwood the screw
will be slightly countersunk in the plywood, not the
hardwood; all plywood will be exterior grade; all
wood-to-wood attachments will be with screws and
waterproof glue,

Construction begins with the full-size drawing of
the outlines of the stem, mold #1, mold #2 and tran-
som on Y2" plywood. All curved lines are drawn by
driving small brads at the ends and center of the
curve, springing a thin batten along the brads and,
using the battens as a guide, drawing the curves. Cut
out these four panels noting that only mold #1 and
#2, not the stem and transom, are notched for sheers,
chines, keelson and stringers. Bevel the stem and
transom to the dimensions shown, using a plane or
“Surform.”

Next, cut the stringers to size; nail the 1 x 6 braces,
2 x 4 cross braces and 2" shelf brace to the stringers
as shown. Erect the entire stringer assembly onto two
sawhorses. Sécurely brace the sawhorses as required
to prevent any shifting of the stringer assembly during
construction: Notice that the top of the stringers are

in the same plane as the bottom of the seats. This

facilitates construction of the seats later on.

Now, attach mold #1 and #2 to their 1 x 6 braces .

with wood screws (no glue). Use shims, if needed,
to align the molds properly. Attach the stem and
transom to their 1 x 6 braces with wood screws (no
glue). Be careful to properly align the stem and
transom with the stringers.

Cut out the framing for the stem and transom from
3% x 1¥2" hardwood. Clamp this framing in place tem-
porarily before beveling and notching it for sheers,
chines and keelson. Spring a ‘thin batten to simulate
the actual planking. This will provide a guide for the
angle of bevel required and, also, a guide for how
much bevel is required on the inside faces of the
notches. Notice that the part of the framing that
supports the seat is beveled. Attach all the framing
to the stem and transom with glue and 1" #8 screws
on 3" centers. _

Now, attach the keelson, beveling the ends to fit
snugly against the stem and transom, with glue and
two 134" #8 screws at each end. If the keelson is
difficult to bend into place, wrap it with rags and
pour hot water onto the rags. Wood soaked in hot
water like this will bend much more readily than dry
wood. Note that the keelson is not attached to the
two molds. : '

The sheers are fitted and attached in a similar man-
ner: with glue and one 134" #8 screw at each end.

- Remember to spring the sheers into place together to
prevent the boat from becoming lop»‘si&ed— because of

pressure from only one side,

BOAT BUILDER




i i it

The chines are fitted, sprung into place and attached
the same way as the sheers; however, since the chines
are being bent in two directions, horizontally along
the curve of the side planking and vertically along the
curve of the bottom planking, they will have a ten-
dency to twist. This can be overcome by clamping 1 x
4s at the chines mid- and quarter-points. These 1 x 4s
can be used as levers to take the twist out of the
chines and, after being loosely clamped to the sheers,
will keep the chines from twisting. The following is

178" % 340" % 4"

_With the ribs on the other side for symmetry of loca-

tion and length. Attach ribs with glue and one 1%4”
#8 screw at both sheer and chine. Relocate the 1 x 4
levers as required while attaching the ribs; then, after
all the ribs are installed, remove the 1 x 4 levers
entirely.

Install the seat framing. The seat framing consists
of six lengths of hardwood, two of which are already
attached to the stem and transom. Of the remaining
four lengths, one is attached later after the dagger-

| sRariz)

ALUMINUM 1 347%2 w2'xg'- 1" Mas,

SEE DETAILS LEFT

e 14" NYLOM
JIB HALYRRD
STRINGER
POSITION

GAFF ROLLER
| SEE ABOVE]

3

-
-

1

I

I

I

I

vz Pu;mn 1 1
DAGGERBOARD L Yﬁ
&7

optional: chine blocks. Chine blocks make a stronger
boat and, for the beginning boat builder, overcome
slight imperfections in the fitting of the chine ends.
Chine blocks are simply % " hardwood pieces cut and
beveled to fit around two sides of the chine. Attach
the chine blocks to the stem and transom framing
with glue and two 112" #8 screws.

Cut the ribs from % x 142" hardwood. There are
six ribs on each side of the boat, the ribs being located
at the seventh points of the sheers, Each rib is notched
at the sheer and chine and is located perpendicular
to the sheer. Check the ribs on one side of the boat

1978 EDITION

TURNBUCKLE
TO CHAIN PLATE

WITH MAINSAIL ALONE
i ’
=== _WITH JIB AND MAINSAIL

I/8" BEVEL
TO AFT FACE

JIG MOULDS - 142" PLYWOOD

348" % 3 2" FRAME i
! 144 BEVEL
3/4° % 5" FRAME '\‘ __q_av—A}T SIDES

BEVEL
FOR
SEAT

BOW INBOARD FACE v’ BEGEL |

BE—— 34"x3 V2 FRAME 34X | /2" FRAME

board case is installed and three are installed now,
each length simply laying on the top of the stringers
and extending across the entire width of the boat and
slightly beyond the ribs. Bevel the ends of each length
to fit snugly against the side of its rib. Attach the seat
framing to the ribs with glue and one 1” #8 screw
at each end. Trim off the excess portion of the seat
framing to the ribs with glue and one %" #8 screw

Then fit the fore and aft seat braces, using % «x
1}2" hardwood for the framing and %" plywood for
the diaphragm. Attach the framing one piece at a time.
with glue and'two 1%” #8 screws, then attach the

53












